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1. Calculate the following differential
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1. Consider the following function

Does f(:z:) have a point where the derivative is 0? Why or why not?
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1. Use the Taylor Series to write the fifth-order Taylor expansion of f(z) = sin(z?) at z = 7.
2. Estimate the following values without using a calculator (also cannot use counting rods, abacus,
fingers, or any other calculating tools):

sin(1)

/40

3. Following question 2, estimate the error of the methods used. (Non-numerical solution; calculation
tools can be used now)
4. Memorize it, the Taylor Series.
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1. Attempt to find the numerical solution to the following equation (accurate to three significant
figures):
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